2k100 3k400

( ) 1,600m(90 m®) 650m
500m(47 ) 48,000 m? 3.10ha
7 20
6,000 H15 2,448.9 41
H13
1,918
1,194ha
* (/150 )
50 15 29 2
51 9 2 9
4,525 51 9
3,600ha 51 9
55.3 2k200
4,427m*/s 8,000m*/s

1/6.5




13

15

19

55 12 H12/S55
5,738 6,087 1.06
1,585 1,918 1.21
1,731 2,348 1.36
1,082 1,526 1.41
217 305 1.41
55 12 H12/S55
549,033 629,549 1.15
9.7 16.5 1.70
175,123 246,602 1.41
2,850 2,124 0.75
10,533 9,247 0.88
464 12




6,031 1,441
112,964 "1 62,614 "1
50 50
5,489
86,515 "1 33,164
230,276 "1
649
2,040 *1
*1
130
45 E
6,008
88,510 1
*1
5.5
2.6
() 12
7
9
10
11
13
15
20
0 n m3 27 H15
650m 180m 28 H15
47 m3 17 H15
48 m me 21 H15
1 ( ) 100  H15
3.10ha 100 H15
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51 9 17 493mm
3,600ha 4 525 76
2 9 19 402mm
2.510ha 2,580 12
2 9
13
(m3/s) (mm) (ha) (
51 9 ?’93)0 493 3,600 4525 76
2 9 ?'87? 402 2510 2580 72
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